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17

number of factors k

2 3 4 5 5 6 6
N=8 N=14 N =24 N =42 N =28 N=76 N = 46
k=2 k=3 k=4 k=5 k=5 k=6 k=6
p=0 p=0 p=0 p=0 p=1 p=0 p=1
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k=2 k=3 k=4 k=5 k=5 k=6 k=6
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Axial: 4




17

number of factors k

2 3 4 5 5 6 6
N=8 N=14 N =24 N =42 N =28 N=76 N = 46
k=2 k=3 k=4 k=5 k=5 k=6 k=6
p=0 p=0 p=0 p=0 p=1 p=0 p=1
.centerPo| .centerPo| .centerPo| .centerPo| .centerPo| .centerPo| .centerPo
Cube: 0 | Cube: 0 | Cube: 0 | Cube: 0 | Cube: 0 | Cube: 0 [ Cube: 0
Axial: 0 | Axial: 0 | Axial: 0 [ Axial: 0 | Axial: 0 [ Axial: 0 | Axial: 0
N =14 N=18 N =28 N =48 N =35 N =83 N =52
k=2 k=3 k=4 k=5 k=5 k=6 k=6
p=0 p=0 p=0 p=0 p=1 p=0 p=1
.centerPo| .centerPo| .centerPo| .centerPo| .centerPo| .centerPo| .centerPo
Cube: 3 | Cube: 2 | Cube: 2 | Cube: 2 | Cube: 6 | Cube: 1 | Cube: 4
Axial: 3 | Axial: 2 | Axial: 2 | Axial: 4 | Axial: 1 | Axial: 6 | Axial: 2

N =20 N =30 N =50 N =41 N =84 N =56
k=3 k=4 k=5 k=5 k=6 k=6
p=0 p=0 p=0 p=1 p=0 p=1
.centerPo| .centerPo| .centerPo| .centerPo| .centerPo| .centerPo
Cube: 2 | Cube: 2 | Cube: 2 | Cube: 6 | Cube: 1 | Cube: 4
Axial: 2 | Axial: 2 | Axial: 4 | Axial: 1 | Axial: 6 | Axial: 2
N =34 N =54 N =53 N = 86 N =64
k=4 k=5 k=5 k=6 k=6
p=0 p=0 p=1 p=0 p=1
.centerPo| .centerPo| .centerPo| .centerPo| .centerPo|
Cube: 2 | Cube: 2 | Cube: 6 | Cube: 1 | Cube: 4
Axial: 2 | Axial: 4 | Axial: 1 | Axial: 6 | Axial: 2
N =62 N =90 N =80
k=5 k=6 k=6
p=0 p=0 p=1
.centerPo| .centerPo| .centerPo
Cube: 2 Cube: 1 | Cube: 4
Axial: 4 Axial: 6 | Axial: 2
N =98
k=6
p=0
.centerPo
Cube: 1

Axial: 6

N =92
k=7
p=1
.centerPo|
Cube: 1
Axial: 4




Desirability function for y1

1.0 —
0.8 —
2 0.6
%
= scale 3
(2]
D)
O 04 —
0.2
0.0
T T T T 71
120 150
yl

Desirability function for y3

1.0

0.8

0.6

Desirability

ﬁcale 1

0.2

0.0

T 1T T 1
400 500 600

y3



Desirability function for y1

1.0 —
0.8 —
2 0.6
%
= scale 3
(2]
D)
O 04 —
0.2
0.0
T T T T 71
120 150
yl

Desirability function for y3

1.0

0.8

0.6

Desirability

ﬁcale 1

0.2

0.0

T 1T T 1
400 500 600

y3



asponse Surface for elongation 2sponse Surface for elongation




asponse Surface for elongation 2sponse Surface for elongation




mean of rnorm(9)

mean of rnorm(9)

Effect Plot for rnorm(9)

0.6
0.4
0.2
0.0
-0.2
-0.4
-0.6
-0.8

Effect Plot for rnorm(9)

0.6
0.4
0.2
0.0
-0.2
-0.4
-0.6
-0.8

-

-

mean of rnorm(9)

mean of rnorm(9)

Effect Plot for rnorm(9)

0.6
0.4
0.2
0.0
-0.2
-0.4
-0.6
-0.8

Effect Plot for rnorm(9)

0.6
0.4
0.2
0.0
-0.2
-0.4
-0.6
-0.8

-

-




mean of rnorm(9)

mean of rnorm(9)

Effect Plot for rnorm(9)

0.5
0.0 /
-0.5
-1.0 -
1 2 3
A
Effect Plot for rnorm(9)
0.5
0.0
-0.5
-1.0
1 2 3
C

mean of rnorm(9)

mean of rnorm(9)

Effect Plot for rnorm(9)

0.5

0.0 /\
-0.5
-1.0

1 2 3

B
Effect Plot for rnorm(9)

0.5

0.0 /\
-0.5
-1.0




